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Questions 1 to 10 carry 1 mark each. Questions 11 to 15 carry 2 marks each.
For each question, four options are given. One of them is the correct answer.
Make your choice and shade your answer (1, 2, 3 or 4) on the Optical Answer Sheet.

(20 marks)
1 Wﬁchoneofmefoﬂowingnumbersistlwla:g&sl’?
(1) 08
(2) 0.84
(3) 0.819
(4) 0.838
2 in the number line below, what is the value of the reading at 2?

: - | |
BEEEREEREREEREEEEEE
9

8.7 &8 8. 9 ’ J'T
(1) 9.06 =
(2) 9.03
{3) 986
(4) 93
3 What is the value of 24 — 2 x 3 + 27 + 37
(1) 13
2 27
3) 3
{(4) 75

(Go on to the next page)



The figure is made up of 2 semi-circles. AB = BC = CD = DE.
Find the area of the shaded part in terms of =,

(1)
(2)
(3)

(4)

Find the perimeter of the rectangle beiow in terms o

67 cm?
127 em®
2

18r cm*

3671 cm?

(3a+1)em
(3a—-3)cm
(6a + 2)cm

(6a— 6)cm

(2a-1)cm

Ym

(g + 2)em

{Go ¢n to the next page)



The table below shows the number of children per household in a housing
estate. '

" Number of children per household . 0 1 1 2 3 |

"Number of households 5 32 | 28 | 12

i

—

What is the total number of children in the households that have at least
2 children?

{1y 28
(2) 40
(3) 56
(4 92

Whicn of the feliowing is 2 trapezium’?

(1:  ABDF

~
I
@)
@)
2

T
w
O
)
m

(Go on to the next page)



A group of children was asked to name their favourite colours. Each child
named one colour and the pie chart below shows their choices.

Yellow

An equal number of children chose blue, green and yeilow as their favourite
colours. What fraction of the children named blue as their favourite colour?

M 3
@
@ 3
@ 3

(Go on to the next page)
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The figure below shows a cube.

Which of the foilowing is not a net of the cube?

B |
: 'r
' 's
|
|
|
i {1 (2) l
— 1 - i
i

{

| |
: i, Q
|
(3; (4)

(Go on to the next page)
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11

The figure below is made up of 6 rectangles of equal area. What fraction of

the figure is shaded?

(1)

w| =

W hr

N

12

Rei baked some cookies. She gave :— of the cookies to her sister and

2
5 of the remaining cookies to her brother. What fraction of the cookies

did Rei have left?

(3)

(4)

13
20

(Go on to the next page)



12 The totai mass of Conrad and Timothy is 51 kg. The total mass of Timothy
and Setn is 81 kg. Seth is three times as heavy as Conrad. What is the
average mass of the three poys?

(1) 22kg
(2) 32kg
(3) 33kg
(4) 44xg
13 Cupcakes are scia at Goocie Bakery at the prices shown below.
GOODIE BAKERY - |
Cnocciate Cupcakes Strawberry Cupcakes l
: |
; $Z each $3 each [

Sally spent a total of $50 on 16 chocolate cupcakes and some strawberry
cupcakes. How many strawberry cupcakes did Sally buy?

(1. 6
2 9
(3, 10
(4, 18

(Go on to the next page)



14 The map below shows the location of different buildings in a town.

Building A '

|[ Building B Building D

Building C

-

—tpZ

The post office is located to the north-east of the mall.

The library is located to the south-east of the school and to the west of the
post-office.

Which one of the following buildings is the school?

(1)  Building A

(2) Building B

(3) Building C

(4) Building D

(Go on to the next page)



15 A number of identical cubes are joined as shown in the figure below. The
total surface area is 550 cm?. What is the volume of 1 cube?

7

(1) 25cm®

(2) 110cm?
(3) 125cm®
(4) 625cm?

(Go on to Booklet B)
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Questions 16 to 25 camry 1 mark each. Write your answers in the spaces provided.

Do not write

For questions which require units, give your answers in the units stated. in this space
(10 marks)
16 Write down all the common factors of 24 and 30.
Ans:
17 Find the value of 5+ 8
Express your answer as a decimal.
Ans:
. 3
18 A rectangular tank measuring 60 cm by 20 cm by 40 cm is 5 filled with

water. Find the volume of the water in the tank.

Ans:

cm?

(Go on to the next page)
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19 The volume of a wooden cube is 512 cm?. A small cube of side 3 cm was cut
away from it. Find the volume of the remaining solid.

Ans: cm?

20 The triangle below has an area of 144 cm?. Find its height.

|
R S —
12 cm

Ans: cm

21 The pie chart below shows the breakdown of the spectators at a football

match.

Boys
- Mgn
Girls =
3 5
20
Women

What percentage of the spectators were women?

Ans: %

(Go on 1o the next page)

Do not write
in this space

3%




22 Last year, there were 20 members in the art club. This year, there were 25 Do not write
members. What was the percentage increase in the art club membership? | In this space

Ans: %

23 The figure below is made up of squares.
Shade two more squares so that the figure has a line of symmetry.

3 |

(Go on to the next page)




camera before the discount?

24 In the figure, PQ and RS are straight lines. Find £ y.
R
Q
48° y
120°
P
S
|
i
!
;
Ans: 2
1
i
|
!
25 A camera cost $270 after a discount of 10%. What was the price of the ||

Ans: $

(Go on 1o the next page)

o

Do not write
in this space




Questions 26 to 30 carry 2 marks each. Show your working clearly and write your Do not write
answers in the spaces provided. For questions which require units, give your answers in this space
in the units stated.
{10 marks)
26 The difference between two numbers is 159 and the sum of the numbers is
177. What is the value of the smaller number?
Ans:
27 The figure shows a parallelogram ABCD and an isosceles triangle ABE.
BDE is a straight line. Find 2 DAE. i
|
|
|
|
1l i
A " Vo B i;
|
|
Ans: 0!

(Go on to the next page)




28 Alina had 20 more marbles than Brandon. After Brandon gave Alina 15 Po r?ot write
marbles, Alina had twice as many marbles as Brandon. How many marbles | " this space
did they have altogether?

Ans:

29 Chin Hao had a piece of coloured paper in the shape of a quadrant. He cut
out a small quadrant from the coloured paper as shown below. Find the
perimeter of the remaining piece of coloured paper.

(Take n = %;— )

Ans: cm

(Ge on to the next page)




30 The figure below shows a rectangle ABCD.
A B
F
D E &

The ratio of the length of AF to the length of FD is 2 : 3. The ratio of the

length of CE to the length of DE is 8 - 2. Given that the area of triangle ABF

is 20 cm?, find the area of triangle BCE.

Ans.

Do not write
in this space

End of Paper 1
7
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Questions 1 to 5 carry 2 marks each. Show your working clearly and write your

answers in the spaces provided. For questions which require units, give your answers

in the units stated.

(10 marks)

The graph below shows the number of packets of fruit juice sold at a shop in
a day.

Mango

Guava

Type of
fruit juices Orange :

Apple

— - b -

I
1
I
I
1 |
L I
6 12 18 24 30 36 42 48

Number of packets sold

What percentage of the total number of packets of fruit juice sold were apple
juice?

Ans: %

The perimeter of a rectangle is 72 cm. The length of the rectangle is 3 times
its breadth. What is the area of the rectangie?

Ans: cm?

(Go on to the next page)

Do not write
in this space




A stack of 35 identical workbooks was 33.25 cm high. Mrs Chua marked Do not write
some of the workbooks and put aside the marked workbooks in a separate | ™ this space

stack. The stack of the remaining unmarked workbooks was then 22.8 cm.
How many such workbooks had Mrs Chua marked?

Ans:

Lisa had a container completely filled with rice. After she used 360 g of the
rice, the container became half-filled. The container with the remaining rice
weighed 1.81 kg. Find the mass of the empty container in kilograms.

Ans: kg

(Go on to the next page)



Roger has a rectangular piece of cardboard measuring 3 m by 2 m.
He wants to cut out circular pieces each measuring 40 cm in diameter.
What is the maximum number of such circular pieces that he can cut from

the cardboard?

p—

rd
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J
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r
[
r
P
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A
Y

Do not write
in this space

Ans: o

(Go on to the next page)




For questions 6 to 18, show your working clearty and write your answers in the Do not write
spaces provided. The number of marks available is shown in brackets [ ] at the end in this space

of each question or part-question.
(50 marks)

At an exhibition, < of the people were women. There were thrice as many

6
men as children. There were 190 more women than children. Find the total
number of people at the exhibition.
Ans: 3]
7 Kayla bought 4 books and 1 file for a total of $72.55. The cost of the file was

$15.20 less than the average cost of each book. Find the cost of the file.

Ans: (3]

- . : i " (Go on to the next page)




Do not write

In the square grid below, ABC is an isosceles triangle.
in this space

(a) Measure and write down the size of ZBAC.

(b) AB is one of the sides of a square ABDE. D and E are two points
inside the square grid. Draw three lines BD, DE and EA to complete

the drawing of square ABDE.

[2]

Ans: (a) [1]

}
|
I
]

(éo on to the next page)
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9

A fruit stall sold large and small boxes of mangoes at the prices shown

below.
Mangoes for Sale
1 Large Box 1 Small Box
for
$(2p — 6) $(%+7)

Sean had $150. He bought an equal number of large and small boxes of
mangoes and had $12 left.
if p = 10, how many large and small boxes of mangoes did Sean buy

altogether?

Ans: (3] |

(Go on to the next page)

Do not write
in this space




10

A square paper of length 48 cm is cut into 2 identical pieces as shown in
Figure 1. The pieces are arranged to form a rectangle as shown in Figure 2.
Find the perimeter of the rectangle.

Al
i’ AR}

Figure 1

Ans:

(3]

(Go on to the next page)

Do not write
in this space




11

Rachel forms a repeated pattern using the numbers 1, 3, 5, 7 and 8.

The first 14 numbers are shown below.

(a) Which number is in the 26™ position?

(b) Find the sum of the first 500 numbers.

Ans: (a)

(b)

1)

|
|
|

3!

(Go on to the next page)

Do not write
in this space
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12 The figure is made up of a circle and a right-angle isosceles triangle. PQ is Pci ;Ot write
the diameter of the circle. Find the area of the shaded part. in this spac

(Take:r=%2—)

=4 U

s AT Y

Ans: (4] ‘

(Go on to the next page) '



13 Julian left Town A for Town B at 11.30 a.m. He travelled at an average
speed of 60 km/h. At 1 p.m., Shane left Town A for Town B. It took him
3 hours to catch up with Julian.
(a) Find the average speed of Shane.

(b) When Shane caught up with Julian, they had completed 90% of the
journey. Find the distance between Town A and Town B.

Ans: (a)

(b)

Do not write
in this space

(Go on to the next page)

10




14 In the figure below, ABCD is a square, DEC is an equilateral triangle and
CEFG is a trapezium. EBF is a straight line. ’
F
A
1B
E
G
D ' C
(a) Find ZCEB.
(b) Find ZABF.
|
|
|
!
|
i
Ans: (a) 2] |
|
(b) 12] |

)

(Go on to the next page)

Do not write
in this space




15

Ashley bought 8 identical files and her sister bought 8 identical keychains.
The total cost of all the files and keychains was $96. Ashley then exchanged

a file with her sister for a keychain. After the exchange, the total cost of the

items Ashley had was % of the total cost of the items that her sister had.

Find the cost of one such keychain.

i

Ans: [4] |

(Go on to the next page)

Do not write
in this space

12



16

The figures below show a rectangular tank P and a cubical tank Q.

Tank P measures 60 cm by 18 cm by 35 cm. It is completely filled with
water. Both tap A and tap B were tumed on at the same time for 20 minutes.
Water flowed from tap A into tank P at a rate of 500 cm?® per minute. Water
drained out from tap B at a rate of 800 cm? per minute and was collected in
tank Q.

Tap A

= 35cm

N e o

ETapB

Tank Q
(a) How many litres of water was left in tank P at the end of 20 minutes?

(b) Given that tank Q had a capacity of 64 litres, what would be the height
of the water level in tank Q at the end of 20 minutes?

Ans: (a) (3]

(b) (2]

Do not write
in this space

13




17

Ann had 20% more money than Megan at first. After Ann gave some of her
money to Megan, the ratio of Ann’s money to Megan’s money became 4 :7
and Ann had $99 left.

(a) How much money did Megan receive from Ann?

(b) After Megan received the money from Ann, they bought a present for a
friend. They both shared the cost of the present equally. In the end, the
ratio of Ann’s remaining money to Megan’s remaining money was 1 : 6.
What was the cost of the present?

F
Ans: (a) 2]

(b) 3|

(Go on to the next page)

Do not write
in this space

14




18 Zachary had some money left after spending $158 on a jacket, a polo shirt
and 2 T-shirts. He could not buy another similar jacket with his remaining
money as he was short of $54. He decided to buy another similar T-shirt
instead and had $27 left in the end.

(a) How much more did the jacket cost than the T-shirt?
(b) Given that the jacket cost three times as much as the polo shirt, how
much money did Zachary have at first?
Ans: (a) {111
(b) (41|
End of Paper |
Setters:

Mr Jenfry Tseng, Mrs Norah idil, Mdm Ong Li Ling, Ms Veronica Yeo

Do not write
in this space

15
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Q28

Q29

Q30

15+20+ 15=50
50 x 3 = 150 marbles

42 -14=28

Txn=22

21 x7=860
+82+284+22+66=172cm

A ABF =200 cm’®
A ABD = 50 cm?
ABDC=50cm1-+-;-x10uch

ABCE=4Gcm2—>§x8uxBC

Paper 2

Q1

Q2

Q3

Q4

Q7

30+ 27 + 48 + 45 = 150
2 £ 100=18%
150 T

72 +8=0
0x3=27
27x9=243 cy’

313.25-22.8=10.45

35 workbooks — 33.25

1 workbook — 33.25+ 35=0.95
10.45 = 0.95 = 11 workbooks

1.81kg = 1810g
1810 — 360 = 1450

1450g = 1.45kg

3m =300cm , 2m = 200cm
300+-40=175

200+ 40=5

7 x 5= 35 circular pieces

§-3=5

Sunts= 190
1unit=190+5=38
B+0+3=20

20 units = 38 x 20 = 760 people

15.20 x 4 = 60.80
72.55-60.80=11.75
11.75-5=82.35



Q8a
Q8b

Q10

Qlla

Q11b

Q12

(Q13a

Q13b

] largebox =2x10-6=20~6=14
I small box="2+7=2+7=9
150+2=138

14+9=23
138+:23=6=6+6=]2 boxes

48+2=24

48x4=192

192+2=96

48+3=16

16+ 16=32

48+24=72
32+32+72+72=208¢cm

8

500+ 7=71R3
71 x 26 = 1846
1+74+3=11
1846 +11 = 1857

7x7x§x33=38.5

-
»

?x?x§=24.5

385-245=14
385+245=63

14x 14 x§:93
98 — 63 = 35cm’

60 x4§= 270
Shane — 270 = 3 = 90 kmv/h

90% — 270km
10% — 30km
100% = 300km

3
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Q14a

Q14b

Q15

Q16a

Q16b

Q17a

Q17b

Q18a

Q18b

90° - 60° = 30°
ZCEB = (180° - 30°) + 2 = 75°

90° - 75° = 15°
ZABF = 180° - 15° = 165°

8F + 8K =96

7F + 1K = 1n (824)
7K + 1k = 3u($72)
8F + 8K = 4u
$96 = 4u

ln=3%24

3u=%72
IF+1K=96+=8=12
72-12=60

6K — $60

1K =$%$10

800 — 500 = 300
300 x 20 = 6000

60 x 18 x 35 =37800
37800 — 6000 = 31800
31800 +1000=31.80 £

V64000 = 40

40 x 40 = 1600
800 x 20 = 15000
16000 = 40 = 40 = 10 cm

4 units = 99
Junit=99+4=2475
2 nnits = 24.75 x 2 = $49.50

17u—>495x 17=S884.15
34u — 84.15x2 = $168.30

$27 + $54 =$81
81 «3=27
158—-81-27=50
50-10=35

S5x3=15
158 + 15+ 27 = 3200

End

4

www.testpaper.biz



	Henry Park Primary School SA2

